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Example

1. If + means  , -means  means + and 

 means -, then the value of 

÷ × , ÷

×

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jwCS9xboX0jG


 when simplified is

A. 2

B. 18

C. 42

D. 

Answer: C

Watch Video Solution

36 × 12 + 4 ÷ 6 + 2 − 3

6
1

2

https://dl.doubtnut.com/l/_jwCS9xboX0jG


2. If P denotes  , Q denotes , R denotes +

and S denotes -, then the value of 18Q 12P 4R

5S 6 when simlplified gives

A. 36

B. 53

C. 59

D. 65

Answer: B

Watch Video Solution

÷ ×

https://dl.doubtnut.com/l/_dK9NxwEbX1cW


3. 7 * 1 = 64, 3 * 9 = 144 

What is the value of 5 * 6 ?

A. 22

B. 55

C. 66

D. 121

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_n74DqTvg7TDb
https://dl.doubtnut.com/l/_lIVkF4ZbUdkG


4. If 9 + 7 = 58, 3 + 11 = 124 

What is the value of 13 + 5 ?

A. 38

B. 31

C. 174

D. 36

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lIVkF4ZbUdkG


5. If  , then What is

the value of 

A. 65

B. 66

C. 81

D. 51

Answer: C

Watch Video Solution

9 × 3 = 36, 11 × 7 = 81

5 × 13?

https://dl.doubtnut.com/l/_ocsVku0oTdKb
https://dl.doubtnut.com/l/_2H2uz9pUGXOh


6. If 31 + 72 = 26, 52 + 45 = 32 

then what is the value of 47 + 83?

A. 130

B. 65

C. 22

D. 44

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2H2uz9pUGXOh


Exercise 1 Type I

1. If - means  means + , + means  and

 means -, then 

A. 7.95

B. 16

C. 4

D. 479.95

Answer: C

Watch Video Solution

× , × ÷

÷ 40 × 12 + 3 − 6 ÷ 60?

https://dl.doubtnut.com/l/_y6Cw4kyXgUZx


2. If + means  means  means 

and - means + , then 

A. 

B. 

C. 12

D. 

Answer: B

Watch Video Solution

÷ , × −, ÷ ×

8 + 6 × 4 ÷ 3 − 4 = ?

−12

−
20

3

20

3

https://dl.doubtnut.com/l/_y6Cw4kyXgUZx
https://dl.doubtnut.com/l/_1e1GaXSrDsYd


3. If means  , - means  means +

and + means -, then

A. 8

B. 4

C. 2

D. 

Answer: C

Watch Video Solution

× ÷ × , ÷

(3 − 15 ÷ 19) × 8 + 6 = ?

−1

https://dl.doubtnut.com/l/_VHuahMelrBIO


4. If  means + ,  menas -, - means  and

+ means , then 

A. 1

B. 

C. 

D. 44

Answer: B

Watch Video Solution

× ÷ ×

÷ 8 × 7 − 8 + 40 ÷ 2 = ?

7
2

5

8
3

5

https://dl.doubtnut.com/l/_ETSlyemr5a2r
https://dl.doubtnut.com/l/_GuazPwdxRtl1


5. If + means - , - means  means  and

 means + , then 

A. 0

B. 6

C. 10

D. 20

Answer: C

Watch Video Solution

× , × ÷

÷ 15 × 3 ÷ 15 + 5 − 2 = ?

https://dl.doubtnut.com/l/_GuazPwdxRtl1


6. If  means - , + means , - means  and 

 means + , then 

A. 190

B. 180

C. 90

D. -60

Answer: D

Watch Video Solution

× ÷ ×

÷

15 − 2 ÷ 900 + 90 × 100 = ?

https://dl.doubtnut.com/l/_vRGiF1tgLDUL


7. If a means 'plus', b means 'minus', c means

'multiplied by' and d means 'divided by then 18

c 14 a 6 b 16 d 4 = ?

A. 63

B. 254

C. 288

D. 1208

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fClnlA2EyvQU


8. If A means -, B means , C means + and D

means , then 15 B 3C 24 A 12 D 2 = ?

A. 34

B. 2

C. 

D. 5

Answer: D

Watch Video Solution

÷

×

5

9

https://dl.doubtnut.com/l/_wToul6I1imMd
https://dl.doubtnut.com/l/_AcgBkDnRITdl


9. If x stands for 'add', y stands for 'subtract', z

stands for 'divide and p stands for 'multiply

then what is the value of (7 p 3) y 6 x 5?

A. 5

B. 10

C. 15

D. 20

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AcgBkDnRITdl
https://dl.doubtnut.com/l/_CErUiwdMbJTY


10. If A stands for +, B stands for - ,C stands for

 , then what is the value of (10 C4) A (4 C 4 )

B 6?

A. 60

B. 56

C. 50

D. 20

Answer: C

Watch Video Solution

×

https://dl.doubtnut.com/l/_CErUiwdMbJTY
https://dl.doubtnut.com/l/_4KYt0WQkJNfn


11. If L denotes , M denotes , P denotes +

and Q denotes , then 16 P 24 M 8 Q6 M2 L 3 =

?

A. 

B. 

C. 

D. 10

Answer: D

Watch Video Solution

× ÷

−

13

6

−
1

6

14
1

2

https://dl.doubtnut.com/l/_4KYt0WQkJNfn


12. If-means  , + means ,  means -, 

means +, then which of the following

equations is correct?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

÷ × ÷ ×

52 ÷ 4 + 5 × 8 − 2 = 36

43 × 7 ÷ 5 + 4 = 25

36 × 4 − 12 + 5 ÷ 3 = 420

36 − 12 × 6 ÷ 3 + 4 = 60

https://dl.doubtnut.com/l/_pvwGQVHrS7hh


13. If  means 'addition', - means 'division', 

means 'subtraction' and + means

'multiplication', then which of the following

equations is correct?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

× ÷

16 × 5 ÷ 10 × 4 = 19

16 + 5 ÷ 10 × 4 − 3 = 9

16 + 5 − 10 × 4 ÷ 3 = 9

16 − 5 × 10 ÷ 4 + 3 = 12

https://dl.doubtnut.com/l/_KbxdTIFDYFBA


14. If + stands for 'division',  stands for

'addition', - stands for 'multiplication' and 

stands for 'subtraction', then which of the

following equations is correct?

A. 

B. 

C. 

D. 

×

÷

36 × 6 + 7 ÷ 2 − 6 = 20

36 ÷ 6 + 3 × 5 − 3 = 45

36 + 6 − 3 × 5 ÷ 3 = 24

36 − 6 + 3 × 5 ÷ 3 = 74

https://dl.doubtnut.com/l/_KbxdTIFDYFBA
https://dl.doubtnut.com/l/_gk7Tlig5bR4m


Answer: D

Watch Video Solution

15. If  stands for addition', < stands for

'subtraction', + stands for 'division', > stands

for multiplication' - stands for 'equal to', 

stands for greater than' and = stands for 'less

than', state which of the following is true?

A. 

B. 

×

÷

3 × 2 < 4 ÷ 16 > 2 + 4

5 > 2 + 2 = 10 < 4 × 8

https://dl.doubtnut.com/l/_gk7Tlig5bR4m
https://dl.doubtnut.com/l/_mf9tCH5gZDpd


Exercise 2 Type Ii

C. 

D. 

Answer: B

View Text Solution

3 × 4 > 2 − 9 + 3 < 3

5 × 3 < 7 ÷ 8 + 4 × 1

1. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

https://dl.doubtnut.com/l/_mf9tCH5gZDpd
https://dl.doubtnut.com/l/_9lZs48J5s3Hk


alternatives under it specifies the interchange

of signs in the equation, which when made will

make the equation correct. Find the correct

alternative. 

A.  and 

B.  and 

C.  and 

D.  and -

Answer: A

Watch Video Solution

5 + 6 ÷ 3 − 12 × 2 = 17

÷ ×

+ ×

+ ÷

+

https://dl.doubtnut.com/l/_9lZs48J5s3Hk


2. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

alternatives under it specifies the interchange

of signs in the equation, which when made will

make the equation correct. Find the correct

alternative. 

A.  and +

B.  and -

2 × 3 + 6 − 12 ÷ 4 = 17

×

+

https://dl.doubtnut.com/l/_9lZs48J5s3Hk
https://dl.doubtnut.com/l/_stJm0qWfrGQ3


C.  and 

D.  and 

Answer: A

Watch Video Solution

+ ÷

− ÷

3. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

alternatives under it specifies the interchange

of signs in the equation, which when made will

https://dl.doubtnut.com/l/_stJm0qWfrGQ3
https://dl.doubtnut.com/l/_rRj6qDd1JPRd


make the equation correct. Find the correct

alternative. 

A.  and 

B.  and 

C.  and +

D.  and 

Answer: B

Watch Video Solution

16 − 8 ÷ 4 + 5 × 2 = 8

÷ ×

− ÷

÷

− ×

https://dl.doubtnut.com/l/_rRj6qDd1JPRd
https://dl.doubtnut.com/l/_d391ylYYBJIX


4. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

alternatives under it specifies the interchange

of signs in the equation, which when made will

make the equation correct. Find the correct

alternative. 

A.  and 

B.  and 

C.  and -

9 + 5 ÷ 4 × 3 − 6 = 12

+ ×

÷ ×

÷

https://dl.doubtnut.com/l/_d391ylYYBJIX


D.  and -

Answer: C

Watch Video Solution

+

5. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

alternatives under it specifies the interchange

of signs in the equation, which when made will

make the equation correct. Find the correct

https://dl.doubtnut.com/l/_d391ylYYBJIX
https://dl.doubtnut.com/l/_HGD6hcsyJQh1


alternative. 

A.  and +

B.  and +

C.  and +

D.  and 

Answer: B

Watch Video Solution

12 ÷ 2 − 6 × 3 + 8 = 16

÷

−

×

÷ ×

https://dl.doubtnut.com/l/_HGD6hcsyJQh1


6. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

alternatives under it specifies the interchange

of signs in the equation, which when made will

make the equation correct. Find the correct

alternative. 

A.  and -

B.  and 

C.  and -

56 ÷ 7 × 2 + 8 − 1 = 9

×

÷ ×

+

https://dl.doubtnut.com/l/_1l9wV8BMjEGI


D.  and 

Answer: C

Watch Video Solution

+ ÷

7. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

alternatives under it specifies the interchange

of signs in the equation, which when made will

make the equation correct. Find the correct

https://dl.doubtnut.com/l/_1l9wV8BMjEGI
https://dl.doubtnut.com/l/_1rZDqGUczNcI


alternative. 

A. + and x

B. + and ÷

C. ÷ and -

D. + and -

Answer: B

Watch Video Solution

72 + 12 × 3 ÷ 8 − 6 = 20

https://dl.doubtnut.com/l/_1rZDqGUczNcI


8. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

alternatives under it specifies the interchange

of signs in the equation, which when made will

make the equation correct. Find the correct

alternative. 

A.  and 

B.  and 

C.  and -

121 ÷ 11 − 3 × 13 + 2 = 22

− ×

− ÷

÷

https://dl.doubtnut.com/l/_nSqrgp4k1h4K


D.  and -

Answer: A

Watch Video Solution

+

9. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

alternatives under it specifies the interchange

of signs in the equation, which when made will

make the equation correct. Find the correct

https://dl.doubtnut.com/l/_nSqrgp4k1h4K
https://dl.doubtnut.com/l/_fjPxEJJFSLj4


alternative. 

A.  and -

B.  and +

C.  and 

D.  and -

Answer: B

View Text Solution

77 + 7 × 2 ÷ 4 − 7 = 19

÷

÷

+ ×

+

https://dl.doubtnut.com/l/_fjPxEJJFSLj4


10. In each of the following questions, an

equation becomes incorrect due to the

interchange of two signs. One of the four

alternatives under it specifies the interchange

of signs in the equation, which when made will

make the equation correct. Find the correct

alternative. 

A.  and 

B.  and 

C.  and 

380 × 19 + 2 − 4 ÷ 2 = 14

× +

× ÷

÷ ×

https://dl.doubtnut.com/l/_bqmMTiP7yZhu


Exercise 3 Type Iii

D.  and -

Answer: C

Watch Video Solution

+

1. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

https://dl.doubtnut.com/l/_bqmMTiP7yZhu
https://dl.doubtnut.com/l/_llBVJhb9NmWV


Given interchanges: Signs: - and  and

numbers 4 and 8

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

÷

6 − 8 ÷ 4 = − 1

8 − 6 ÷ 4 = 1

4 ÷ 8 − 2 = 6

4 − 8 ÷ 6 = 2

https://dl.doubtnut.com/l/_llBVJhb9NmWV


2. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

Given interchanges: Signs: + and  and

numbers 4 and 5

A. 

B. 

C. 

D. 

×

5 × 4 + 20 = 40

5 × 4 + 20 = 85

5 × 4 + 20 = 104

5 × 4 + 20 = 95

https://dl.doubtnut.com/l/_Tdy5f01ujn99


Answer: C

Watch Video Solution

3. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

Given interchanges: Signs: + and - and

numbers 4 and 8

A. 4 ÷ 8 − 12 = 16

https://dl.doubtnut.com/l/_Tdy5f01ujn99
https://dl.doubtnut.com/l/_NTH4Xj8FMHmP


B. 

C. 

D. 

Answer: B

Watch Video Solution

4 − 8 + 12 = 0

8 ÷ 4 − 12 = 24

8 − 4 ÷ 12 = 8

4. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

https://dl.doubtnut.com/l/_NTH4Xj8FMHmP
https://dl.doubtnut.com/l/_Vl9Ukhg47PN3


Given interchanges: Signs: - and  and

numbers 3 and 6

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

×

6 − 3 × 2 = 9

3 − 6 × 8 = 10

6 × 3 − 4 = 15

3 × 6 − 4 = 33

https://dl.doubtnut.com/l/_Vl9Ukhg47PN3


5. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

Given interchanges: Signs:  and + and

numbers 4 and 2

A. 

B. 

C. 

D. 

÷

4 + 2 ÷ 1 =
3

2

2 + 4 − : 3 = 6

4 + 3 ÷ 3 = 3

2 + 4 ÷ 5 = 8

https://dl.doubtnut.com/l/_3d1qxiVwyboK


Answer: A

View Text Solution

6. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

Given interchanges: Signs:  and  and

numbers 6 and 3

A. 

÷ +

3 + 6 ÷ 2 = 5

https://dl.doubtnut.com/l/_3d1qxiVwyboK
https://dl.doubtnut.com/l/_lIs6ykYScY4U


B. 

C. 

D. 

Answer: C

Watch Video Solution

6 ÷ 3 + 2 = 8

3 + 6 ÷ 5 = 7

3 ÷ 6 + 1 = 6

7. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

https://dl.doubtnut.com/l/_lIs6ykYScY4U
https://dl.doubtnut.com/l/_dwJCIvFHAP3v


Given interchanges: Signs:  and  and

numbers 2 and 8

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

× +

8 × 2 + 9 = 19

2 × 8 + 10 = 13

2 + 8 × 6 = 22

8 × 2 + 6 = 19

https://dl.doubtnut.com/l/_dwJCIvFHAP3v


8. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

Given interchanges: Signs: + and - and

numbers 2 and 1

A. 

B. 

C. 

D. 

1 − 2 + 3 = 0

1 + 2 − 5 = 7

1 + 2 − 3 = 7

1 − 3 + 2 = 1

https://dl.doubtnut.com/l/_i8X6DaaOydUY


Answer: A

Watch Video Solution

9. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

Given interchanges: Signs:  and  and

numbers 9 and 3

A. 

÷ +

3 + 9 ÷ 4 = 8

https://dl.doubtnut.com/l/_i8X6DaaOydUY
https://dl.doubtnut.com/l/_ZquSQbuztrx8


B. 

C. 

D. 

Answer: C

Watch Video Solution

3 ÷ 3 + 9 = 13

3 + 9 ÷ 2 = 5

3 + 9 ÷ 9 = 2

10. In each of the following questions if the

interchanges are made in signs and numbers,

which one of the four equations would be

correct? 

https://dl.doubtnut.com/l/_ZquSQbuztrx8
https://dl.doubtnut.com/l/_vRPHjvm4Z3GY


Exercise 4 Type Iv

Given interchanges: Signs: - and + and

numbers 8 and 4

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4 + 8 − 1 = 5

4 − 8 + 5 = 9

4 + 8 − 5 = 10

4 − 8 + 12 = 1

https://dl.doubtnut.com/l/_vRPHjvm4Z3GY


1. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If 

then 12 + 27 = ?

A. 94

B. 14

C. 49

D. 53

3 + 9 = 31, 15 + 12 = 45, 18 + 9 = 36

https://dl.doubtnut.com/l/_ef1IWpDvedg8


Answer: A

Watch Video Solution

2. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If ,

then 

A. 63

1 × 2 = 32, 4 × 3 = 712, 4 × 7 = 1128

5 × 1 = ?

https://dl.doubtnut.com/l/_ef1IWpDvedg8
https://dl.doubtnut.com/l/_avD2EjEJfsGY


B. 64

C. 65

D. 66

Answer: C

Watch Video Solution

3. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

https://dl.doubtnut.com/l/_avD2EjEJfsGY
https://dl.doubtnut.com/l/_GMBIXHU6j1ts


If  ,

then 

A. 127

B. 271

C. 126

D. 129

Answer: A

Watch Video Solution

2 × 1 = 81, 3 × 2 = 278, 2 × 5 = 8125

1 × 3 = ?

https://dl.doubtnut.com/l/_GMBIXHU6j1ts


4. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If , then

215 = ?

A. 425

B. 1625

C. 4125

D. 2541

213 = 419, 322 = 924, 415 = 16125

https://dl.doubtnut.com/l/_Ak63oRbHX8Hu


Answer: C

Watch Video Solution

5. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

if 68 = 43. 2046 = 3201 , 688 = 443, then 2008 ?

A. 4002

B. 1004

https://dl.doubtnut.com/l/_Ak63oRbHX8Hu
https://dl.doubtnut.com/l/_gK0lPde0ooXZ


C. 4001

D. 4020

Answer: C

Watch Video Solution

6. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If 43 = 158 , 35 = 824 , 42 = 153 , then 32 = ?

https://dl.doubtnut.com/l/_gK0lPde0ooXZ
https://dl.doubtnut.com/l/_FjJn2pOaRtL6


A. 84

B. 83

C. 85

D. 94

Answer: C

Watch Video Solution

7. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

https://dl.doubtnut.com/l/_FjJn2pOaRtL6
https://dl.doubtnut.com/l/_uyvcD0yVf1TU


the value of the number ? 

 =  , then 

A. 21

B. 42

C. 14

D. 81

Answer: B

Watch Video Solution

2 ÷ 3 = 89, 3 ÷ 4 = 2716, 4 ÷ 3 649

1 ÷ 2 = ?

https://dl.doubtnut.com/l/_uyvcD0yVf1TU
https://dl.doubtnut.com/l/_pjIqbIx6tOBe


8. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? If 7*3 =52, 9*5 = 86,

3*4 = 13 , then 5*7 = ?

A. 30

B. 32

C. 40

D. 57

Answer: C

https://dl.doubtnut.com/l/_pjIqbIx6tOBe


Watch Video Solution

9. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

 , then

11 + 3 = ?

A. 56

B. 48

C. 49

3 + 5 = 16, 7 + 9 = 64, 10 + 12 = 121

https://dl.doubtnut.com/l/_pjIqbIx6tOBe
https://dl.doubtnut.com/l/_IchSA3hShCX4


D. 196

Answer: C

Watch Video Solution

10. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If 3*7 = 58, 5*6 = 61, 3*2 = 13 , then 5*4 = ?

A. 39

https://dl.doubtnut.com/l/_IchSA3hShCX4
https://dl.doubtnut.com/l/_RLWCgDOGBoDN


B. 41

C. 81

D. 90

Answer: B

Watch Video Solution

11. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

https://dl.doubtnut.com/l/_RLWCgDOGBoDN
https://dl.doubtnut.com/l/_JfSBXs8rDnLT


the value of the number ? If 24 + 35 = 28, 15 +

42 = 24, 84 + 57 = 48 then 69 + 37 = ?

A. 62

B. 56

C. 38

D. 50

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JfSBXs8rDnLT


12. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If 

then 

A. 45

B. 59

C. 56

D. 65

84 ⊕ 72 = 45, 63 ⊕ 41 = 33, 25 ⊕ 52 = 33

94 ⊕ 82 = ?

https://dl.doubtnut.com/l/_TW8eBQuxl3xN


Answer: C

Watch Video Solution

13. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If , then 

A. 25

4 × 8 = 42, 6 × 4 = 23, 8 × 6 = 34

2 × 4 = ?

https://dl.doubtnut.com/l/_TW8eBQuxl3xN
https://dl.doubtnut.com/l/_DufWs84UwboQ


B. 21

C. 26

D. 42

Answer: B

Watch Video Solution

14. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

https://dl.doubtnut.com/l/_DufWs84UwboQ
https://dl.doubtnut.com/l/_skHd6tGbEhCS


If  , then 

A. 12

B. 18

C. 25

D. 16

Answer: D

Watch Video Solution

3 + 8 = 17, 5 − 2 = 23, 6 × 2 = 72

8 ÷ 4 = ?

https://dl.doubtnut.com/l/_skHd6tGbEhCS


15. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If 

then 

A. 5742

B. 5274

C. 7427

D. 5724

36 × 92 = 9623, 25 × 82 = 8522, 68 × 75 = 7856

47 × 52 = ?

https://dl.doubtnut.com/l/_fI8XFamUOQXc


Answer: D

Watch Video Solution

16. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If  , then 

A. 77

3 × 4 = 14, 5 × 6 = 33, 7 × 8 = 60

8 × 9 = ?

https://dl.doubtnut.com/l/_fI8XFamUOQXc
https://dl.doubtnut.com/l/_MjC4vuR8cqYp


B. 89

C. 98

D. 79

Answer: A

Watch Video Solution

17. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

https://dl.doubtnut.com/l/_MjC4vuR8cqYp
https://dl.doubtnut.com/l/_96GDwxr2FWeO


If 

then  = ?

A. 68

B. 64

C. 85

D. 18

Answer: D

Watch Video Solution

32 × 41 = 15, 51 × 34 = 47, 41 × 52 = 37

87 × 53

https://dl.doubtnut.com/l/_96GDwxr2FWeO


18. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If , then 

A. 12

B. 10

C. 8

D. 6

2 × 8 = 4, 3 × 27 = 9, 6 × 24 = 4

5 × 40 = ?

https://dl.doubtnut.com/l/_r2MpJNfE2FxH


Answer: C

Watch Video Solution

19. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

If  then 6

+ 5 = ?

A. 17

3 + 2 = 7, 4 + 3 = 10, 5 + 4 = 13,

https://dl.doubtnut.com/l/_r2MpJNfE2FxH
https://dl.doubtnut.com/l/_abgcg4YjkDfC


B. 18

C. 15

D. 16

Answer: D

Watch Video Solution

20. In each of the following questions , three

statements of numbers following same rules

are given . Find the rule and accordingly find

the value of the number ? 

https://dl.doubtnut.com/l/_abgcg4YjkDfC
https://dl.doubtnut.com/l/_OEgdCpWJe3Hm


If  ,

then 

A. 73

B. 77

C. 37

D. 97

Answer: A

Watch Video Solution

5 × 9 = 144, 7 × 8 = 151, 4 × 6 = 102

2 × 5 = ?

https://dl.doubtnut.com/l/_OEgdCpWJe3Hm

